RIS g & AT &7 X ERp] EIE- T 2z M
A A 4 8 2 EIEE I
& Al M

NEHEZH24-X==C

, 1A A (H1200xW3000)

2021 2 o
B AR

1577-8549
(02)3436-6450




o
40
2
_\'J_
kel

NEAE 22 -XI==2lE, IFA(H1200xW3000)

T2 bl = 2l 2 g
25 7 > | @9 LI
e O 2 o e O 2 o e Ot 2 o e O 2 o
1. REHEZH-NFE2E, DFA (H1200xW3000) & XIBAH "Bt
INESTIES ®101.62X2tX200 2| = 3,200 6.400 3,200 6,400 |2E0iei=2
nooF ®101.6%2t 2| = 80,000 160,000 80,000 160,000 |80z a+2HES
ME ©101.62 2| 9.600 19,200 9,600 19,200 |es0ieEz+EnEE
NEEES ©76.3x3050x2t 1= 67,000 67,000 67,000 67,000 |ssoieicI+ENEE
R ©50.8x2850x2t 2| 38,800 77,600 38,800 77,600 |2B0lE3+EHE
REEELEEE M8x110( &) 1o 1,500 1,500 1,500 1,500
YEIEB/BUE M8x110( &) 4 oH 1,200 4,800 1,200 4,800
BEALK] 50X320 2| = 3,300 6,600 3,300 6.600
A (R 343,100 - - 343,100
ZRL] szoe 0.075| 2 181,293 13,596 181,293 13,506 |22 5 BEREBB(HATTA) P43
R 0.15| o 144,481 21,672 144,481 21,672 |(E\0 BERERBASETA) P46
SENS FPEFNAE 14.44| kg 600 8,664 600 8,664 | TAZAT, 2021.01 Ha2HIHA P.227
Ancy 6 inch 0.16] hr 409 65 409 65 [ Sy A e
2021 HEHES S (AL AT P.436
3SROHIE 5 inch 0.08| 148,000 11,840 148,000 11,840 [i2e su=ei0 sBasa =8,
2021.09 HeHot=3 P.1322
2| 25kw 0.24| hr 8,360 2,006 28,571 6.857 3,045 730 39,976 9,508 | L e e
gmes 2.5ton 0.24| hr 6.274 1,505 37,187 8.924 5.887 1,412 49,348 11,841 | e
Bl AHZFOl 3% 1 A 1,058 1,058 1,058 1,058 |20214 AL HEB (AL ATA) P.436
A (&XIH) 25,073 51,049 2,207 78,329
b 368,173 51,049 2,207 421,429
*'m'g ©O}: 421,429 |/ 3m = 140,477




pl = CH t q
) L 24l 4 dl =
23 A *g | 29 HI 22
=l o = 3 o = = o =l = o

*H1SHE : BHEL-'AN2HE

Al 409 409
* H2SHE - 2&I|(25kw)-"'Al2HE
SEa 25kw 1 hr 3,045 3.045 3,045 3.045 %?szuwai%l?:e:giiggziii)g}x)zzgx%,oooooo1
a2 0.001W% S 4.3 | 1,568 6,742 1,568 6,742 |2021.09 JHeHIt2 P.1435
PN =S FAHSO| 24% 0.24] 4 6,742 1,618 6,742 1,618
LEDHSH A 1 ¢ 28,571 28,571 28,571 28,571 |M45HE

A 8,360 28,571 3,045 39,976
* RIBS H : X E={(2.5ton)-'Al2HE
BZES 2.5ton 1 hr 5,888 5.887 5,888 5.887 %?)zﬂwaiﬁfgigggﬁﬁjog}x)zgéﬁ%Aoooooo1
B 0.001W% S 2.9 | 1,568 4,547 1,568 4,547 [2021.09 HeHItA P.1435
PN FHZO 38% 0.38] & 4,547 1,727 4,547 1,727
SIEX2 A 11 o 37,188 37,187 37,188 37,187 |M58E

A 6,274 37,187 5,887 49,348
* N4SHE : U H2FA-'AIZH'Y
B H2H A ‘ ‘ 0.208 | ¢l ‘ 137,143 ‘ 28,571 137,143 28,571 [1LIIZEAZxA O H 2x 5 X H %==(1/8)x(16/12)x(25/20)
* NISS X : SIS A2FA-'Al2HE
SIEX2 A ‘ ‘ 0.208 | ¢l ‘ 178,501 ‘ 37,188 178,501 37,188 |[1LIIZEAIZxA O H 2=x 5 X H %=(1/8)x(16/12)x(25/20)
* I EL
Sgog 2021.9.121& 1 - 181,293 181,293 181,293 181,293
238 2021.9.12|= 1 - 144,481 144,481 144,481 144,481
F2=3 2021.9.121& 1 - 207,346 207,346 207,346 207,346
A H2E A 2021.9.12|= 1 & - 137,143 137,143 137,143 137,143
StSXH2 ™ AL 2021.9.121& 1 - 178,501 178,501 178,501 178,501




MEZH =g e 2 H 1

0.0635x3.14x0.3X1900x27H 2 14.44 kg |[®127mm, 201300mm




RIS g & AT &7 X ERp] EIE- T 2z M
A A 4 8 2 EIEE I
& Al M

NEHEZH24-X==C

, 1A A (H1200xW3000)

2021 2 o
B AR

1577-8549
(02)3436-6450




o
40
2
_\'J_
kel

NEAE 22 -XI==2lE, IFA(H1200xW3000)

T 2 bl = 2 = g
= = > | @9 Sl
e O 2 o e o} 3 o e Ot 3 o e o} 3 o
1. HENERLA-NFE2E, DHA (H1200XW3000) & XIBAH A2t e
NESTIES ®101.62X2tX200 2| = 20,000 40,000 20,000 40,000 |~diiziA
noox ®101.6X2t 2| = 154,000 308,000 154,000 308,000 |AeieiE
e ©101.68 1M 9.600 9.600 9,600 9,600 |2E0Ix=I+2HEE
NEEES ©76.3x3050x2t 1| = 186,000 186,000 186,000 186,000 |~diizix
= ©50.8x2850x2t 2| 114,000 228,000 114,000 228,000 |AeioiE
REEELEEE M8x110(£ &) 2| 1,500 3,000 1,500 3,000
YEIEB/BUE M8x110( ) 4l 1,200 4,800 1,200 4,800
BEALK] 50X320 2| = 3,300 6.600 3,300 6.600
A (R 786,000 - - 786,000
ZRL] szoe 0.075| o 181,293 13,596 181,293 13,506 |22 5 BERESB(HATTA) P43
R 0.15| o 144,481 21,672 144,481 21,672 |(\0 BERERBASETA) P46
SENS FPEFNAE 14.44| kg 600 8,664 600 8,664 |#TAZAIT, 2021.01 HaHIHA P.227
Ancy 6 inch 0.16] hr 409 65 409 65 |2t B AR RS
2021 HEHES S (AL AT P.436
3 B0MHIE 5 inch 0.08| 148,000 11,840 148,000 11,840 |2e su=eilsBasa 58
2021.09 HeHot= P.1322
2| 25kw 0.24| hr 8,360 2,006 28,571 6.857 3,045 730 39,976 9,508 | L e
gmes 2.5ton 0.24| hr 6.274 1,505 37,187 8.924 5.887 1,412 49,348 11,841 | e
Bl AHZF9l 3% oA 1,058 1,058 1,058 1,058 |2021d ALEESL(ALATA) P.436
A (&XIH) 25,073 51,049 2,207 78,329
A 811,073 51,049 2,207 864,329
*'m"e ©OL: 864,329 |/ 3m = 288,110




7 =2 o o H
M 2 dl L 24l 2l =
3 7 > | e S
=l = =l = e It 2 o =l 2 o

*AMSE : BOSE-'AIY
0=E 6" 1 hr 409 409 409 409 g(\);lwaiEJ:E:Sgsﬁ%ggs(%;ggs;;%?gooooo1

Al 409 409

M2&H @ LEI|(25kw)-"Al2H'E

2l 25kw 1 hr 3,045 3,045 3.045 3,045 5??5355555%%5%2225233.ooooom
=R 0.001W% S 4.3 | 1,568 6,742 1,568 6,742 |2021.09 JH2HIt= P.1435
SN FAHZ9 24% 0.24| &l 6,742 1,618 6,742 1,618
LEDH2E AL 1« 28,571 28,571 28,571 28,571 |4 E

Al 8,360 28,571 3,045 39,976
* R3S HE : I ZE=(2.5ton)-'AI2H'E
BZES 2.5ton 1 hr 5.888 5.887 5.888 5.887 %?ilwai355552&9%3&322262%.ooooom
=k 0.001W% S 29 | 1,568 4,547 1,568 4,547 |2021.09 H2H§It= P.1435
SN FHZ9l 38% 0.38| &l 4,547 1,727 4,547 1,727
SIE X2 A 1 ¢ 37,188 37,187 37,188 37,187 |55 %

Al 6,274 37,187 5,887 49,348
* M4SHE : U ASTA-'ANZHE
LB A2 AL ‘ ‘ 0.208 | ¢l ‘ 137,143 ‘ 28,571 ‘ 137,143 ‘ 28,571 |12I1F A2 01 H x5 X 4=(1/8)x(16/12)x(25/20)
* NI5SHE : SEN2TA-'AIZHEY
SIEX2 A ‘ ‘ 0.208 | ¢l ‘ 178,501 ‘ 37,188 ‘ 178,501 ‘ 37,188 |12IIEAIZXA O H 2xE I H 4=(1/8)x(16/12)x(25/20)
* - QIEDt
Sgog 2021.9.171& 1] < - 181,293 181,293 181,293 181,293
2SR 2021.9.101& 1 < - 144,481 144,481 144,481 144,481
223 2021.9.171& 1] < - 207,346 207,346 207,346 207,346
B A2 A 2021.9.171& 1 < - 137,143 137,143 137,143 137,143
SIEXSHE AL 2021.9.171& 1 < - 178,501 178,501 178,501 178,501




MEZH =g e 2 H 1

0.0635x3.14x0.3X1900x27H 2 14.44 kg |[®127mm, 201300mm




	9...BI-DF-H1200xW3000,분체-2109
	9S...BI-DF-H1200xW3000,스텐-2109

